Moto-All.ru

CITMCOK OETAJIEY [IJ14 "SUSPENSION REAR - R12TH90DG" POLARIS

R12TH90DG RANGER 900 DIESEL

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY [IJ14 "SUSPENSION REAR - R12TH90DG" POLARIS

R12TH90DG RANGER 900 DIESEL

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 7519043 Cpok nocTasKu ot 27 JHeit T0s sopi T XLXB g
2 7547333 Cpok nocraBku oT 27 gHeHN NUT-M10X1.25 16
3 5137591 CpoK 1nocTaBku oT 27 gHeHN SHAFT-PIVOT 8
4 5439270 CpOK IOCTaBKH OT 3 JHEH BUSHING-A-ARM-SHORT | 24
5 5251753 Cpok mocTaBKH OT 27 HHEH RETAINER-SPRING 2
6 7518563 Cpok nocTaBku OT 27 gHEl BOLT-M10X1.25X60 2
7 1018185-067 Cpok 1nocTtaBku oT 27 gHel WELD-CONTROL ARM 2
8 7043556 Cpok nocTtaBku oT 27 gHelN SHOCK-REAR 2
9 7043670-067 CpoK 1ocTaBku OT 27 gHeH SPRING 2
10 5253768 CpOK IoCTaBKY 0T 27 [HEH CAM-ADJUSTING 2
11 1018184-067 Cpok 1nocTaBku OT 27 gHel WELD-CONTROLARM 2
12 5137592 Cpok nocTaBku OT 27 gHel SHAFT-PIVOT 2
13 7518558 Cpok nocraBku oT 19 fHel BOLT-M10X1.25X20 4
14 7512084 CpoK 1nocTaBku oT 27 gHel SCREW(10) 4
15 5438639-070 CpoK 1nocTaBku oT 27 gHel SHIELD-CV 2
16 5136544 Cpok nocTraBku 0T 27 fHEN CARRIER-BEARING 1
16 5136543 Cpok nocTaBku OT 27 gHel CARRIER-BEARING 1
17 3514635 Cpok mocTaBKu OT 27 fHe# BEARING-WHEEL 2
18 7710440 CpoK noCTaBKH OT 27 [HEeU RING 2
19 7518566 CpoK 1nocTaBku oT 27 gHel BOLT-M10X1.25X115 4
20 5137593 CpoK 1nocTaBku OT 27 gHeHN SHAFT-PIVOT 2
21 7518562 CpoK 1mocTaBku oT 27 gHEeH BOLT-M10X1.25X140 2




